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[ SECTION 1 - ASCENDING AND DESCENDING ORDER

1. Arrange in ascending order: 20, 18, 22
A) 18, 20, 22 B) 22, 20, 18 C) 20, 22,18

2. Arrange in descending order: 22, 24, 20
A) 22,20, 24 B) 24, 22, 20 C) 20, 22,24

3. Which of the following numbers is arranged in ascending order?
A) 45, 56, 78, 89 B) 85, 67, 92, 100 C) 99, 78, 67, 45

4. Arrange in descending order: 66, 64, 65
A) 65, 66, 64 B) 66, 65, 64 C) 64, 65, 66

5. Arrange in descending order: 55, 53, 54
A) 53,55, 54 B) 54, 55, 53 C) 55, 54, 53

6. Which of the following numbers is arranged in descending order?
A) 32, 45, 67, 89 B) 91, 82, 73, 64 C) 11, 22,33,44

7. Arrange in ascending order: 8, 6, 7
A)6,7,8 B)S, 6,7 C)7,8,6

8. Which of the following is the correct ascending order?
A) 15, 20, 10, 25 B) 12, 13, 14, 15 C) 50, 40, 30, 20

9. Which of the following is the correct descending order?
A) 76, 54,32, 11 B) 20, 10, 30, 40 C) 22,44, 11,33

10. Arrange in descending order: 30, 32, 31
A) 31, 30, 32 B) 32, 31, 30 C) 30, 31, 32

11. Arrange in ascending order: 3, 5, 4
A)3,4,5 B)5,4,3 C)4,3,5

12. Which of the following is the correct in ascending order.
A) 68, 58, 47, 24 B) 24, 47,52, 69 C) 82,48, 51, 77

13. Arrange in descending order: 48, 50, 49
A) 50, 49, 48 B) 48, 50, 49 C) 49, 50, 48

14. Arrange in descending order: 48, 50, 49
A) 49, 50, 48 B) 48, 50, 49 C) 50, 49, 48



15. Arrange in ascending order: 7, 5, 6
A)6,5,7 B)7,6,5 C)5,6,7

16. Arrange in descending order: 22, 24, 23
A) 23,22,24 B) 24, 23, 22 C) 22,24, 23

17. Which of the following numbers is arranged in ascending order?
A) 40, 30, 50, 60 B) 25, 30, 45, 60 C) 90, 70, 50, 30

18. Which of the following is the correct descending order?
A) 78, 65, 52, 42 B) 52, 54, 78, 42 C) 64, 78,52, 42

19. Which of the following is the correct in ascending order.
A) 76, 60, 92, 89 B) 98, 87, 76, 60 C) 60, 76, 89, 98

20. Which of the following is the correct in descending order.
A) 68, 42, 24, 19 B) 43,67, 18, 24 C) 25,19, 67,42

[ SECTION 2 - ADDITION - CARRYING OVER / WITHOUT CARRYING OVER

21. What is the sum of 47 + 38?
A) 75 B) 95 C) 85

22. What is the sum of 21 + 43?
A) 54 B) 64 C) 74

23. What is the sum of 50 + 30?
A) 70 B) 90 C) 80

24. What is the sum of 69 + 57?
A) 126 B) 116 C) 136

25. Add 48 + 79.
A) 117 B) 127 C) 137

26. Find the sum: 41 + 32.
A) 73 B) 63 C) 83

27. What is 56 + 677
A) 113 B) 123 C) 133

28. What is 62 + 14?
A) 76 B) 86 C) 96



29. Find the sum: 89 + 76.
A) 155 B) 175 C) 165

30. Find the sum: 31 + 42.
A) 63 B) 83 C)73

31. A fruit seller has 40 apples and buys 20 more. How many apples does he have in total?
A) 50 B) 60 C) 70

32. A school bought 46 notebooks on Monday and 58 notebooks on Tuesday. How many
notebooks did they buy in total?

A) 94 B) 114 C) 104

33. A shopkeeper sold 51 chocolates in the morning and 20 in the evening. How many
chocolates were sold in total?

A) 61 B) 71 C) 81

34. A farmer has 30 cows and 40 goats. How many animals does he have in total?
A) 60 B) 80 C)70

35. Ravi saved %47 in January and %88 in February. How much money did he save in total?
A) X135 B) X125 C) X145

36. A shopkeeper sold 77 apples in the morning and 68 apples in the afternoon. How many
apples were sold in total?

A) 145 B) 135 C) 155

37. A train travelled 59 km in the morning and 74 km in the evening. What is the total
distance travelled?

A) 123 km B) 133 km C) 143 km

38. A school has 25 teachers and hires 40 more. What is the total number of teachers now?
A) 55 B) 75 C) 65

39. A farmer collected 85 mangoes from one tree and 68 mangoes from another. How many
mangoes did he collect in total?

A) 153 B) 143 C) 163

40. Ravi has %20, and his father gives him X50. How much money does he have now?
A) 260 B) X70 C) X80



[ SECTION 3 - SUBTRACTION WITH BORROWING / WITHOUT BORROWING

41. What is 52 — 29?
A) 33 B) 23 C) 43

42. Find the difference: 73 — 42.
A) 31 B) 41 C)51

43. What is 81 — 46?
A) 35 B) 45 C) 55

44. Find the difference: 70 — 48.
A) 12 B) 22 C) 32

45. What is 64 — 27?
A) 37 B) 47 C) 57

46. Find the difference: 62 — 21.
A) 31 B) 41 C) 51

47. Find the difference: 91 — 56.
A) 35 B) 45 C) 55

48. What is 84 — 32?
A) 42 B) 52 C) 62

49. What is 75 — 41?
A) 24 B) 44 C) 34

50. What is 90 — 507
A) 30 B) 40 C) 50

51. A fruit seller had 90 oranges. He sold 20 oranges. How many oranges are left?
A) 50 B) 60 C) 70

52. Ravi had %85. He spent %40 on a book. How much money does he have left?
A) 235 B) %45 C) %55

53. A school library had 86 books. 49 books were borrowed by students. How many books are
left in the library?

A) 37 B) 27 C) 47



54. A farmer harvested 72 kg of wheat. He sold 39 kg. How much wheat does he have left?
A) 33 kg B) 23 kg C) 43 kg

55. A school library had 80 books. 30 books were borrowed by students. How many books are
left in the library?

A) 40 B) 50 C) 60

56. A farmer harvested 64 kg of wheat. He sold 20 kg. How much wheat does he have left?
A) 34 kg B) 54 kg C) 44 kg

57. A bus had 77 passengers. At the next stop, 22 passengers got off. How many passengers
are left on the bus?

A) 45 B) 55 C) 65

58. A fruit seller had 75 apples. He sold 38 apples. How many apples are left?
A) 27 B) 47 C) 37

59. Ravi had X92. He spent X58 on a toy. How much money does he have left?
A) X34 B) %44 C)X54

60. A bus had 94 passengers. At the next stop, 58 passengers got off. How many passengers
are left on the bus?

A) 36 B) 46 C) 56

[ SECTION 4 - NEIGHBORING NUMBERS

61. What are the neighboring numbers of 25?
A) 23 and 24 B) 26 and 27 C) 24 and 26

62. What comes before 78?
A) 76 B) 77 C)79

63. What comes after 49?
A) 47 B) 48 C) 50

64. Which number is between 32 and 347?
A) 31 B) 33 C) 35

65. Find the neighboring numbers of 99.
A) 98 and 100 B) 97 and 98 C) 100 and 101

66. What comes before 63?
A) 61 B) 62 C)64



67. What comes after 87?
A) 85 B) 86 C) 88

68. Which number is between 55 and 577
A) 54 B) 56 C) 58

69. What comes before 74?
A) 73 B) 75 C) 76

70. What comes after 92?
A) 91 B) 93 C) 94

71. Which number is between 46 and 487
A) 45 B) 49 C) 47

72, Find the neighboring numbers of 121.
A) 119 and 120 B) 120 and 122 C) 122 and 123

73. What is the number between 2 and 4?
A)3 B) 5 C)6

74. What is the number between 5 and 77
A)7 B)5 C)6

75. A shop has 42 toys. If one more toy is added, how many toys are there now?
A) 41 B) 43 C) 44

76. A class has 58 students. If one student is absent today, how many students are present?
A) 57 B) 59 C) 60

77. A bus has 76 passengers. At the next stop, one more person gets on. How many passengers
are there now?

A) 74 B) 75 C) 77

78. A farmer has 89 cows. One cow is sold. How many cows does he have now?
A) 87 B) 88 C) 90

79. A box contains 63 pencils. One pencil is taken out. How many pencils are left in the box?
A) 61 B) 64 C) 62

80. What are the neighboring numbers of 44?
A) 42 and 43 B) 45 and 46 C) 43 and 45



[ SECTION 5 - NOTES AND COIN

81. Ria spends %30 for snacks and gives 50 note. How much change does she get?
A) 20 B) %21 C) 222

82. How many %10 notes make %1007
A)5 B) 10 C) 20

83. Harish has %50 note and X10 coin. How much money does he have?
A) %61 B) 262 C) 60

84. What is the total value of 3 coins of X5 and 2 coins of X2?
A) Z15 B) 221 C) 219

85. Raj buys a chocolate for X8 using X10 coin. How much change does he get?
A) X2 B) X3 C)x4

86. Ravi has 4 coins of X2 each. How much money does he have?
A) %6 B) X8 C) %10

87. A vendor gives change for 250 using only 10 notes. How many notes does he give?
A)3 B) 4 C)5

88. Rahul buys a pen for X12 using X20 coin. How much change does he get?
A) 23 B) X8 C) X4

89. A girl buys a chocolate for X12. She gives a 20 note. How much change will she get back?
A) 26 B) 210 C) %8

90. Ashok spends %25 on a snack and gives X50 note. How much change does he get?
A) 223 B) %24 C) 225

91. Ramesh buys a water bottle for X15 and gives 20 note. How much change will he get?
A) X5 B) X6 C) X7

92. A man has X200 in %50 notes. How many %50 notes does he have?
A)2 B) 3 C)4

93. Anjali buys a pencil for X10 using X20 note. How much change will she get?
A) X10 B) X11 C) X12

94. A fruit seller has 5 notes of X100 and 2 notes of ¥500. What is the total amount he has?
A) X1000 B) X1500 C) 22000

95. Sundar buys a gift for 75 and gives X100 note. How much change will he get?
A) %25 B) %26 C) X27



96. Jaya has X50 note and %10 coin. How much does she have?
A) %62 B) %61 C) X60

97. Vivek spends %25 on lunch and gives X50 note. How much change will he get?
A) X25 B) X24 C) X26

98. What is the total value of 4 coins of 10 and 3 coins of X57?
A) %40 B) X45 C) X55

99. Which two coins can be used to make X77?
A) X5 and X2 B) X5 and X1 C) X2 and X2

100. Rahul has 3 notes of 50 and 2 notes of X100. What is the total amount he has?
A) X200 B) X250 C) X350
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